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QUESTION: 161
The Unicode system can address characters?

256
1024
16,384
65,536

oCow>

Answer: D

QUESTION: 162
RAM is used by the computer to:

Permanently store electronic data.

Execute the POST during start-up.

Temporarily store electronic data that is being processed.
Egtablish a connection with external devices.

oWy

Answer: C

QUESTION: 163
Pressing the power button on a computer that is running could have which of the following
results?

The operating system will shut down normally.
The computer will instantly shut off.

The computer will go into stand-by mode.
Nothing will happen.

All of the above could happen.

moow>

Answer: E

QUESTION: 164
A casefile can contain hard drive images?
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A 1l
B. 5
C. 10
D. any number of

Answer: D

QUESTION: 165
Which of the following statements is more accurate?

A. The Recycle Bin increases the chance of locating the existence of a file on a computer.
B. The Recycle Bin reducesthe chance of locating the existence of afile on a computer.

Answer: A

QUESTION: 166
Which is the proper formulafor determining the size in bytes of a hard drive that uses cylinders
(C), heads (H), and sectors (S) geometry?

CXHXS
CXH+S
CXHXS+512
CXHXSX512

Cowz

Answer: D

QUESTION: 167
A signature analysis has been run on acase. Theresult ?1Bad Signature means:

A. Thefile signature is known and the file extenson is known.
B. Thefile signature is known and does not match aknown file extension.
C. Thefile signature is unknown and thefile extension is known.
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D. Thefile signature is known and does not match a known file header.

Answer: C

QUESTION: 168
If cluster number 10 inthe FAT contains the number 55, this means:

That there is a cross-linked file.

That cluster 10 is used and thefile continues in cluster number 55.

The cluster number 55 isthe end of an allocated file.

That the file starts in cluster number 55 and continues to cluster number 10.

oow»

Answer: B

QUESTION: 169
Consider the following path in a FAT file sysem: C:\My Documents\My Pictures\Bikes. Where
does the directory Bikes receive itsname?

From the My Pictures directory
From itself

From the root directory c:\

From the My Documents directory

COw>

Answer: A

QUESTION: 170
Using good forensic practices, when seizing a computer a a business running Windows 2000
Server you should:

Shut it down normally.

Pull the plug from the wall.

Pull the plug from the back of the computer.
Press the power button and hold it in.

ocowp
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Answer: A

QUESTION: 171

If afloppy diskette is in the 2drive, the computer will always boot to that drive before any other
device. If afloppy diskette is in the ?drive, the computer will always boot to that drive before
any other device.

A. True
B. Fase

Answer: Pending. Please put your suggestions to support@killexams.com

QUESTION: 172
By default, EnCase will display the data from the end of a logical file, to the end of the cluster,
inwhat color:

Black

Red

Black on red
Red on black

oWy

Answer: B

QUESTION: 173
Thefirst sector on avolume is called the:

Volume boot device

Master boot record

Magter file table

Volume boot sector or record

oWy

Answer: D
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QUESTION: 174

Assume that MyNotetxt was allocated to clusters 5, 9, and 11. Cluster 6, 7, and 8 belong to
MyResume.doc. Both files have been deleted and the directory entry in the FAT file system for
MyResume.doc has been overwritten. What clusters would EnCase use to undelete MyNote.txt?

59,11
6,7,8
5,6,7
7,89
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Answer: C
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